HYWYE T | 1L L8°C €8 161 £HZZHLZHS | #HCTHSZHS - £H0 HLZHS L2
HYXWECZ | 0V vz z°S €1 £122HY HEe | £12 HS HE - £102HV He 92
HY T HLW | g1 €92 801 €91 LUST H LG HTT | £HOTHSZ HIT — £UOT HO9Z HIT | G3
I WY | g6 L8°Z 0°6 ¥9 1 £10 HOZH9 | £H0THOZH9 - £12Z2H6T H9 vz
HHEHYHEY | L 0T g1 "¢ 9°6 69 1 217 HISHE | #H9THISHE - £1ZTHOS HE €3
S W | g9 6L°C ) LT £10ZHSTHE | #1F H6THE - £19THSI HE 2z
Y N H z°9 €8 % 172 9.1 SYTHTITHST | £12 HSI HZT — £HOTHITHZT | 18
BTy | 111 262 T°11 €81 HIZTHYTHE | £19 HSTHE - £122HEI HE 03
HXWEC? | ¥6 18°2 €6 98 T £122HT HTI | #1232 HE HZI - &#12THT HGTI | 6T
HygFxe | 0°g 10 ¢ 9°g 88 T £HOTHZTHS | £#48 HSTHS - &£IVTHZI HS 81
L80FTEE | 679 I1°¢ Z°9 G6 T £12 HITHL | £i8 HZTHL - £1I22HOI H 2L L1
LBIVIEE | 8°6 €0 ¢ ) €02 £1ZTH9 HOT | £19 HZ HOI - £19 H9 HOI | 9T
HXYAHE | 6701 00 '€ 0°0T ¥0 2 £40 HZZHS | £19 HZZHS - £122HIZHS g1
HYWFECT | 1711 LL€ L°01 01 °2 £49 HIZHZI | £V HZZHZI — &HVTHOZ HZT | ¥I
HYXWFECr | 0°8 9G ‘g g8 91 '2 £H0CHS HE | #HPTHO9 HE - £H9THS HE e1
HPFEE | LG LL°€ L°S 022 £18THS HS | #HPTH6 HS - £H9THS HS 21
HPFXE | 9L S0 ¥ 9°9 022 247 HI HS | £H9THZ HS - £H0ZHOSHV 1
DAY | G°8 6E "€ 1°6 L2 % £0% HS H9 | &% H6 H9 - £u18 H9 HO9 0T
LLTPIWEE | 73T 9L °¢ eel 6S G £19T HS8Z 6 | £12 HOS 6 - &£u¥ HSZ H6 6
T EHE | 6°6 19 ¢ L6 17 °2 £10 HIZHE | £10HI1Z K€ £12T HOZ K € 8
H XN L9 98 '¢ g9 GG g £H9 HSZH6 | £19 H9Z H6 £10ZHVZ H6 L
Y B | L3 ey g 82T 20 '€ £10THG6 HZ | £10 HOT K3 £122HS HG 9
HYWdE= | S°6 68 ¥ S 6 %0 "¢ £ISTHZT K9 | #HCTHFT K9 £10T HZT K9 g
LEIFIWE | €L 68 °G €8 L0 °¢ £19 HPTHOT | £1F HSTHOT - £10 H¥I HOT | ¥
LIPIWE | 2L 0€ "G ) 071 ¢ £12 HITHS | £10 HEST HS £18 HOT K8 €
HYWECT | 00T 0z 'V 90T 0Z ¢ £19THY HV | £122HS HV #YTHE HV Z
WISy | 9711 TL°S LTI L0 ¥ £HSTHST HZ | £HCTHOT H & £17 HSTHC T
e (S) Hifl=( | (W) ‘270 | (S) Hif (5 | (W) &7 E =) T
7k et AEEH MEEH NN

FHHE HF5 9 CV—ER

(LC~T) #7102




